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ARHEER fLIETBEEXRFEIOTH A:A-2 , B:B-1
IRTEERFEITITH A:A-2 , B:B-1
R EERFE12TH A:A-2 | B:B-1
AR EERFXE13TH A:A-2 , B:B-1
IR EERFE14TH A:A-2 | B:B-1
IR EEREXEIS5TH A:A-2 , B:B-1
R EERFE16TH A:A-2 | B:B-1
IRTEERFEI7TH A:A-2 , B:B-1
R EERFE18TH A:A-2 | B:B-1
IRTEERFEI9TH A:A-2 , B:B-1
IR EERFEITH A:A-2 | B:B-1
IRTEERFE20T B A:A-2 , B:B-1
A:A-2 , B:B-2

IRTEERFE21TH A:A-2 , B:B-1
A:A-2 , B:B-2

IR EAERXE2TH A:A-2 , B:B-1
ILETEERFEITH A:A-2 , B:B-1
IR EERXEATHE A:A-2 , B:B-1
ILRTEERFKESTH A:A-2 , B:B-1
IR EERXE6TH A:A-2 , B:B-1
ILRTEERFE7TH A:A-2 , B:B-1
IR EERXESTH A:A-2 , B:B-1
LRI EERFEITH A:A-2 , B:B-1
AR EEREK—FI1TH A:A-2 , B:B-1
T EREREK—FK2TH A:A-2 , B:B-1
R EAEREK—E3TH A:A-2 , B:B-1
T EREREK—F4TH A:A-2 , B:B-1
IRTEEREKAEITH A:A-2 , B:B-1
R EEREKAE2TH A:A-2 , B:B-1
R EEREKAEITH A:A-2 , B:B-1
IR EEREKAELITH A:A-2 , B:B-1
R EEXREKTAI—&1TH A:A-2 , B:B-1
IR EEREKTAI—%2TH A:A-2 , B:B-1
LR EXEKTAI—%3TH A:A-2 , B:B-1
IR EERE KT —%4TH A:A-2 , B:B-1
R EXEKTAI—&S5TH A:A-2 , B:B-1
LT EAEREKTATAEZITHE A:A-2 , B:B-1
R EAEXRE KT AE2TH A:A-2 , B:B-1
AT EEREKTATRAEITH A:A-2 , B:B-1
TR AREKTAIAEZ2TH A:A-2 , B:B-1
AT EAEREKTATRAEITH A:A-2 , B:B-1
AT EEREKTEI=%1TH A:A-2 , B:B-1
IR EEREKTAI=%&2TH A:A-2 . B:B-1
AT EEREKTEI=%3TH A:A-2 , B:B-1
IR EERE KT =E&4TH A:A-2 . B:B-1
AT EEREKTEI=%5TH A:A-2 , B:B-1
IR EEREKTAIEEITH A:A-2 . B:B-1
AT EAEREKTEME2TH A:A-2 , B:B-1
R A EREKTAIMEITH A:A-2 . B:B-1
AT EEREKTEEE1TH A:A-2 , B:B-1
IR EERE KT tE2TH A:A-2 . B:B-1
AT EEREKTEEE3TH A:A-2 , B:B-1
IR EERE KT tE4TH A:A-2 . B:B-1
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AT EEREKTEH+E1TH A:A-2 . B:B-1
IR BEXRFEKTEI Z£1TH A:A-2 , B:B-1
LR AEXEKTAI=%&2TH A:A-2 | B:B-1
AR EARXEKTAIZ%&3TH A:A-2 , B:B-1
LR A EXREKTAI=ZE&4TH A:A-2 | B:B-1
AT EARXREKTAIZ&5TH A:A-2 , B:B-1
AR AR EKTE/\NE1TH A:A-2 | B:B-1
AR EARXZEKTAT/\E2TH A:A-2 , B:B-1
AT AR EKTE/\E3TH A:A-2 | B:B-1
AR EARXEKTAIAE1TH A:A-2 , B:B-1
AR AR EKTEAE2TH A:A-2 | B:B-1
AR EARXZEKTAT<ESTH A:A-2 , B:B-1
LR A AEXEKTAIAE4LITH A:A-2 | B:B-1
AARTEEREKELFITH A:A-2 , B:B-1
T EEREKAEZ2TH A:A-2 , B:B-1
AR EEREKESLITH A:A-2 , B:B-1
T EEREK=E1TH A:A-2 , B:B-1
IR EEREK=E2TH A:A-2 , B:B-1
T EEREK=L3TH A:A-2 , B:B-1
AR EEREK=FA4TH A:A-2 , B:B-1
T EEREK=EL5TH A:A-2 , B:B-1
AR EEREKEEITH A:A-2 , B:B-1
AT EAEREKEE2TH A:A-2 , B:B-1
AR EAEREKMEITH A:A-2 , B:B-1
T EEREKEE1ITH A:A-2 , B:B-1
IR EEREKEEL2TH A:A-2 , B:B-1
T EREREKEELEITH A:A-2 , B:B-1
IR EEREKEELLA4TH A:A-2 , B:B-1
LR AR EK LR A:A-2 , B:B-1
TR ARFEKERI—F1TH A:A-2 , B:B-1
AT EEREKEAT—%2TH A:A-2 , B:B-1
TR AREKER—%3TH A:A-2 , B:B-1
AT EAEREKEAT—%4TH A:A-2 , B:B-1
TR ARFEKERI=&1TH A:A-2 , B:B-1
AT EEREKEAT=%2TH A:A-2 , B:B-1
TR AREKERI=%3TH A:A-2 , B:B-1
T EEREKEAT=%4TH A:A-2 , B:B-1
AT AAREKERIME1ITH A:A-2 , B:B-1
AT EARXREKERTME2TH A:A-2 , B:B-1
T AARSE/KERIMEITH A:A-2 , B:B-1
AT EAERXREKERTME4TH A:A-2 , B:B-1
T EEREKEET—&1TH A:A-2 , B:B-1
LR RAAERXREKERT=£&2TH A:A-2 . B:B-1
T EEREK ERT—%3TH A:A-2 , B:B-1
R AERXREKERI=£&4TH A:A-2 . B:B-1
RTEEREK=FE1ITH A:A-2 , B:B-1
IR EEREK=E2TH A:A-2 . B:B-1
IR EEREK=ELITH A:A-2 , B:B-1
LR RAEREK/NEITH A:A-2 . B:B-1
IR EREREK/NE2TH A:A-2 , B:B-1
LR RAAERXEK/NEITH A:A-2 . B:B-1
IR EREREK/NELTH A:A-2 , B:B-1
LR EEREKAEITH A:A-2 . B:B-1
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T EREREKAE2TH A:A-2 . B:B-1
LR EEREKAEITH A:A-2 , B:B-1
T EREREKAELTH A:A-2 | B:B-1
LT EERIIT A:A-2 , B:B-1
ARTBEERIT—54TH A:A-2 | B:B-1
AT EAERIIT—%5TH A:A-2 , B:B-1
RTEERIIT—5%6TH A:A-2 | B:B-1
IRTEERINIT—%7TH A:A-2 , B:B-1
RTBEERIIT—5%8TH A:A-2 | B:B-1
IRTEERIIT—%9TH A:A-2 , B:B-1
ARTBEERITEEITH A:A-2 | B:B-1
IRTEERIITREE2TH A:A-2 , B:B-1
ARTBEERITHESEITH A:A-2 | B:B-1
IRTEERIITREEATH A:A-2 , B:B-1
IRTEERIIT=43TH A:A-2 , B:B-1
AMTEERIIT=44TH A:A-2 , B:B-1
IRTEERIIT=%5TH A:A-2 , B:B-1
AMTEERIIT=46TH A:A-2 , B:B-1
IRTEERIIT=&7TH A:A-2 , B:B-1
AT EARIITEETITH A:A-2 , B:B-1
ARTEER/IITEE2TH A:A-2 , B:B-1
AT EAR/IITEEITH A:A-2 , B:B-1
ARTEER/IITHE4TH A:A-2 , B:B-1
AT EARIITEESTH A:A-2 , B:B-1
RTEER/IITMEESTH A:A-2 , B:B-1
ARTEERIIT=£4TH A:A-2 , B:B-1
RTEERIIT=&5TH A:A-2 , B:B-1
AT EERIT=Z46TH A:A-2 , B:B-1
IRTBEERIT=&7TH A:A-2 , B:B-1
AT EERIIT=48TH A:A-2 , B:B-1
AEmEERIIIE A:A-2 , B:B-1
AT EERINE—F1TH A:A-2 , B:B-1
LT BEAERIIE—%2TH A:A-2 , B:B-1
LR AERI/IIE—%3TH A:A-2 , B:B-1
AT EAERINIEREEITH A:A-2 , B:B-1
ARTEERINE=EL1TH A:A-2 , B:B-1
AT EAERIIE=&2TH A:A-2 , B:B-1
AT EAERIIE=43TH A:A-2 , B:B-1
AT EAER/ILEEITH A:A-2 , B:B-1
AmBEAERIEmEE2TH A:A-2 , B:B-1
AT EAERI/IILEEITH A:A-2 , B:B-1
AT EERINE=&1TH A:A-2 , B:B-1
fLIRTBERXRNIIE=%2TH A:A-2 . B:B-1
ARHTEAERIIIE=Z%3TH A:A-2 . B:B-1
IR EERFR—F1TH A:A-2 . B:B-1
IR EERPR—FK2TH A:A-2 , B:B-1
IR EERPR—E3TH A:A-2 . B:B-1
IR EERPR—F4TH A:A-2 , B:B-1
IR EERPR—E5TH A:A-2 . B:B-1
IR EERPR—EK6TH A:A-2 , B:B-1
IR EERPR—FK7TH A:A-2 . B:B-1
R EERFR=L1TH A:A-2 , B:B-1
IR EERPR=E&2TH A:A-2 . B:B-1
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IR EERTR=%3TH A:A-2 . B:B-1
IR EERPR=FK4TH A:A-2 , B:B-1
AARTEERPR=EL5TH A:A-2 | B:B-1
IR EERPR=K6TH A:A-2 , B:B-1
AT EERPR_-F1ITH A:A-2 | B:B-1
AR EERPR-FK2TH A:A-2 , B:B-1
AR EERPR_ELITH A:A-2 | B:B-1
IR EERPR-FAITH A:A-2 , B:B-1
AARTEERPR_EKS5TH A:A-2 | B:B-1
IR EERPR-EK6TH A:A-2 , B:B-1
AARTEERPR_-EKTTH A:A-2 | B:B-1
IR BEREILR—F1TH A:A-2 , B:B-1
IR EEREAAR—F2TH A:A-2 | B:B-1
IR BEREILR—F3ITH A:A-2 , B:B-1
IR EEREAR—F4TH A:A-2 , B:B-1
IR BEREILR—FK5TH A:A-2 , B:B-1
LRI EHEREAR—FK6TH A:A-2 , B:B-1
IR BEREILREELITH A:A-2 , B:B-1
IRTEEREAREE2TH A:A-2 , B:B-1
IR BEREILRESLITH A:A-2 , B:B-1
IRTEEREAREEATH A:A-2 , B:B-1
IR BEREILRESELSTH A:A-2 , B:B-1
IRTEEREAREEETH A:A-2 , B:B-1
IR BEREILR=£1TH A:A-2 , B:B-1
IRTEEREAR=&2TH A:A-2 , B:B-1
IR BEREILR=5£3TH A:A-2 , B:B-1
IRTEHEREAR=&4TH A:A-2 , B:B-1
AR EEREAIR=%5TH A:A-2 , B:B-1
IETEHEREAR=%6TH A:A-2 , B:B-1
AR EEREAIRMEEITHE A:A-2 , B:B-1
AT EEREARMEE2TH A:A-2 , B:B-1
AR EEREALIRUESTHE A:A-2 , B:B-1
AT EEREARMEELITH A:A-2 , B:B-1
AR EAEREALIRUESTHE A:A-2 , B:B-1
AT EEREARMEEST B A:A-2 , B:B-1
AR EEREAIR=EZ1THE A:A-2 . B:B-1
IETEHEREAR=&2TH A:A-2 , B:B-1
AR EEREAIR=E3THE A:A-2 , B:B-1
IR EEREAR=E4TH A:A-2 , B:B-1
AR EEREAIR=-ES5THE A:A-2 , B:B-1
IETEHEREAR=£6TH A:A-2 , B:B-1
R EEREAIRAEITH A:A-2 , B:B-1
IR B AR EILIRAEZ2TH A:A-2 . B:B-1
LR EAEREAIRSEITH A:A-2 , B:B-1
IR B AR EILIRAFLITH A:A-2 . B:B-1
LR EAEREAIRAESTHE A:A-2 , B:B-1
IR B AR EILIRAELE6TH A:A-2 . B:B-1
T EEREXE A:A-2 , B:B-1
R EEXREEEI10TH A:A-2 . B:B-1
IR EEREELE11TH A:A-2 , B:B-1
R EEREEE12TH A:A-2 . B:B-1
IR EEREELE13TH A:A-2 , B:B-1
R EEREEE14TH A:A-2 . B:B-1
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IR EEREELE15TH A:A-2 . B:B-1
IR EEXEE16TH A:A-2 . B:B-1
IR EEREELE17TH A:A-2 | B:B-1
R EEXEE18TH A:A-2  B:B-1
IR EEREELE19TH A:A-2 | B:B-1
IR EERESE1ITH A:A-2  B:B-1
LR EEREELE20T B A:A-2 | B:B-1

A:A-2 , B:B-2
IR EEREELE21TH A:A-2 | B:B-1

A:A-2 , B:B-2
IR EEREELE2TH A:A-2 | B:B-1
IR EEXESEITH A:A-2 . B:B-1
IR EERESLE4TH A:A-2 | B:B-1
IR EEXEESTH A:A-2 . B:B-1
ILETEEREELE6TH A:A-2 , B:B-1
IR EERESE7TH A:A-2  B:B-1
ILETEERESLE8TH A:A-2 , B:B-1
IR R EXREESTH A:A-2  B:B-1
AR EERFFEIOTH A:A-2 , B:B-1
AT EHERFEMEI1TH A:A-2 , B:B-1
RTEERFFEI1I2TH A:A-2 , B:B-1
AT EHERFEMEISTH A:A-2 , B:B-1
R EERFIE14TH A:A-2 , B:B-1
AT EHERFEMEISTH A:A-2 , B:B-1
AR EERFIE16THE A:A-2 , B:B-1
AT EHERFEME17TH A:A-2 , B:B-1
IETEEREMEITH A:A-2 , B:B-1
T EHEREME2TH A:A-2 , B:B-1
IETEERFEMEISTH A:A-2 , B:B-1
IR EERFEME4TH A:A-2 , B:B-1
IETEERFEMESTH A:A-2 , B:B-1
T EHERFEMESTH A:A-2 , B:B-1
IETEEREM&E7TH A:A-2 , B:B-1
T EERFEMESTH A:A-2 , B:B-1
IETEERFEMESTH A:A-2 , B:B-1
ILRTEERKE A:A-2 , B:B-1
RTEERKE—FK1TH A:A-2 , B:B-1
IR EERKE—K2TH A:A-2 , B:B-1
AR EERKE—K3TH A:A-2 , B:B-1
IR EERKE—F4TH A:A-2 , B:B-1
IRTEERKEREITH A:A-2 , B:B-1
IRTEERKERE2TH A:A-2 , B:B-1
IR EERKEREITH A:A-2 . B:B-1
IRTEERKE=L1TH A:A-2 , B:B-1
IR EERKE=£&2TH A:A-2 . B:B-1
IR EERKE=L3TH A:A-2 , B:B-1
AR EERKENEITH A:A-2 . B:B-1
RTEERKEMNE2TH A:A-2 , B:B-1
AR EERKEMEITH A:A-2 . B:B-1
RTEERKE-L1TH A:A-2 , B:B-1
IR EERKE-L2TH A:A-2 . B:B-1
R EERKEZL3TH A:A-2 , B:B-1
IR EERKE-FL4TH A:A-2 . B:B-1
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LR B A XA A:A-2 . B:B-1
IRETEERIEB—%K10TH A:A-2 , B:B-1
AT EERIEB—%K11TH A:A-2 | B:B-1
IETEERIE—%K12TH A:A-2 , B:B-1
T EERIE—%K13TH A:A-2 | B:B-1
IRETEERIE—%K14TH A:A-2 , B:B-1
AT EERIEB—F1TH A:A-2 | B:B-1
IRTEERIEB—%K2TH A:A-2 , B:B-1
AT EERILEM—%KITH A:A-2 | B:B-1
IRTEERIEB—FK4TH A:A-2 , B:B-1
AR EERIE—£5TH A:A-2 | B:B-1
IRTEERIEB—%K6TH A:A-2 , B:B-1
R R AR —£7TH A:A-2 | B:B-1
IR TEERIEB—%K8TH A:A-2 , B:B-1
AR A AR —L9TH A:A-2 , B:B-1
AT EERIEBAEITH A:A-2 , B:B-1
AR ERIEBAETTH A:A-2 , B:B-1
AT EERIEBAESTH A:A-2 , B:B-1
AR EERIEBAEITH A:A-2 , B:B-1
AR EERIEAESEIOTH A:A-2 , B:B-1
AR ERIEBAESELITH A:A-2 , B:B-1
ARTEERIBEELITH A:A-2 , B:B-1
AR ERIEBAESESTH A:A-2 , B:B-1
IRTEERIBEEETH A:A-2 , B:B-1
AR ERIBESE7TTH A:A-2 , B:B-1
AR EERIBEESTH A:A-2 , B:B-1
AR ERIEBESELITH A:A-2 , B:B-1
AT EERIM=%10TH A:A-2 , B:B-1
AR EERIEM=£11TH A:A-2 , B:B-1
T EERILM=&12TH A:A-2 , B:B-1
AR EERIE=513TH A:A-2 , B:B-1
T EERIM=%14TH A:A-2 , B:B-1
AR EERIEB=&1TH A:A-2 , B:B-1
IR EERIM=&2TH A:A-2 , B:B-1
AR EERIEB=&3TH A:A-2 , B:B-1
AT EERIBM=&4TH A:A-2 , B:B-1
AR EERIEB=&5TH A:A-2 , B:B-1
IR EERIM=%6TH A:A-2 , B:B-1
AR EERIEB=&7TH A:A-2 , B:B-1
IR EERIM=48TH A:A-2 , B:B-1
AR EERIEB=£9TH A:A-2 , B:B-1
AT EARIMEE10TH A:A-2 , B:B-1
R AARILEENE11TH A:A-2 . B:B-1
LR A AERILEEE12TH A:A-2 , B:B-1
LR B A XALEEE13TH A:A-2 . B:B-1
LR A AERILEEE14TH A:A-2 , B:B-1
LR A A RILEBmE1ITH A:A-2 . B:B-1
AT EERIEMEE2TH A:A-2 , B:B-1
LR AR RXILEmEITH A:A-2 . B:B-1
AT EERILEMEELITH A:A-2 , B:B-1
LR AR XILEmEST B A:A-2 . B:B-1
AT EERILEMEEET B A:A-2 , B:B-1
LR A A RILEmE7TH A:A-2 . B:B-1
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AT EAERILEMEESTH A:A-2 . B:B-1
AT EERIEMEESTH A:A-2 , B:B-1
T EERIEBEEI10TH A:A-2 | B:B-1
ARTEERIEBEEITH A:A-2 , B:B-1
AR EERIEBEE4A4TH A:A-2 | B:B-1
ARTEERIEBEE7TH A:A-2 , B:B-1
AT EERIEBEESTH A:A-2 | B:B-1
IRTEERIEBEEOTH A:A-2 , B:B-1
AR EERIE=510TH A:A-2 | B:B-1
AT EERIM=F11TH A:A-2 , B:B-1
AR EERIE=—512TH A:A-2 | B:B-1
AT EERIM=%13TH A:A-2 , B:B-1
AR EERIE=514TH A:A-2 | B:B-1
AT EERILBM=F1TH A:A-2 , B:B-1
R R AR =&2TH A:A-2 , B:B-1
AT EERIM=%3TH A:A-2 , B:B-1
AR AR =F4TH A:A-2 , B:B-1
AT EERIM=E5TH A:A-2 , B:B-1
AR AR =£6TH A:A-2 , B:B-1
AT EERIM=E7TH A:A-2 , B:B-1
AR R AR =%£8TH A:A-2 , B:B-1
AT EERIM=K9TH A:A-2 , B:B-1
R EERIE/\E10TH A:A-2 , B:B-1
AR EERIE/NEITH A:A-2 , B:B-1
LR R ERIE/N\E4TH A:A-2 , B:B-1
AT EERIE/NETTH A:A-2 , B:B-1
LR ERILE/\E8TH A:A-2 , B:B-1
AT EERIE/NEOTH A:A-2 , B:B-1
R EERILEAEI0TH A:A-2 , B:B-1
LR ERERILEAREITH A:A-2 , B:B-1
LR A AERILEAE4TH A:A-2 , B:B-1
AR EERILEARETITHE A:A-2 , B:B-1
LR A AERILEAE8TH A:A-2 , B:B-1
AR ERERILEAREITH A:A-2 , B:B-1
IETEERAELEI0T B A:A-2 , B:B-1
AR EERAEEI1TE A:A-2 , B:B-1
IETEERAELE12TH A:A-2 , B:B-1
AR EERAEE13THE A:A-2 , B:B-1
T EERAELE1TH A:A-2 , B:B-1
IR EERAEE2TH A:A-2 , B:B-1
IETEERAELEITH A:A-2 , B:B-1
IR EERAELE4TH A:A-2 , B:B-1
IR EERAEESTH A:A-2 . B:B-1
IR EERAELEG6TH A:A-2 , B:B-1
IR EERAEE7TH A:A-2 . B:B-1
IR EERAELESTH A:A-2 , B:B-1
IR EERAEESTH A:A-2 . B:B-1
IR EERAEIOTH A:A-2 , B:B-1
LI BEEXA&EIITH A:A-2 . B:B-1
IR EERAEI12TH A:A-2 , B:B-1
fLIETBEEXA&E1STH A:A-2 . B:B-1
AR EERAE14TH A:A-2 , B:B-1
fLIETBEEXA&EISTH A:A-2 . B:B-1
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IR EERAE16TH A:A-2 . B:B-1
IR EERAE17TH A:A-2 , B:B-1
R EERAE18TH A:A-2 | B:B-1
AR EERAEI9TH A:A-2 , B:B-1
ILETEERAEITH A:A-2 | B:B-1
AR EERAE20T H A:A-2 , B:B-1
R EERAE21TH A:A-2 | B:B-1
ILRTEERAE2TH A:A-2 , B:B-1
IR EERAEITH A:A-2 | B:B-1
ILRTEERAE4TH A:A-2 , B:B-1
IR EERAESTH A:A-2 | B:B-1
ILRTEERAEGTH A:A-2 , B:B-1
ILRTEERAETTH A:A-2 | B:B-1
ILRTEERAESTH A:A-2 , B:B-1
IETEERAEITH A:A-2 , B:B-1
IR EERREtE 2—1TH A:A-2 , B:B-1
IR EERREE 2—2TH A:A-2 , B:B-1
IR EERREtE 2—3TH A:A-2 , B:B-1
IR EERREE 2—4TH A:A-2 , B:B-1
IR EERREtE 2—5TH A:A-2 , B:B-1
IR EERRELE 2—6TH A:A-2 , B:B-1
IR EERREtE 2—7TH A:A-2 , B:B-1
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